FR2FEE BHRETICE T SEEEMH ERFN S DY F O RERE

M &5
= 4 B LAY == =>4 7 £ P =1 e
2 $§F§uu B e INE %%Lﬂmﬂ@ MEET ENRI D\)—=2% e ;Eﬁg{ﬂ‘gigb ﬁ)ﬁxa)ﬁ@ﬁg% ZDMDEE &#Et (8 + 1) I;Z:!f?]
%
w | EE w | EE % iy} w | EE 3 28 w | 58 w | EE w | EE w | EE8 w | EE8 3 oy} w | EEE 3 &% % oy}
s Tl s ) s Tl HH ) HH ) s el 0 el 0 ) 0 ) 0 m - ) s~ m 5 m s~ )
I SIEATY
MM ZIEBE
Bﬁiiégiﬁfm-ﬁ 0 0 13| 61,647 13| 61,647) 13| 61,647 13| 61,647
WEEEIEE 2 —
INSREERRR
HEZEEQ 140| 356,562 140| 356,562 0 o] 140 356562 140 356,562
HHlFRE
Ei%ﬁ@é?’f 0 0 0 of o of o 0
EEREIERRK
i 0 0 0 0| 140| 356,562 0 0| 140| 356,562 0 0 0 0 0 0 0 0 0 of 13| 61,647 13| 61,647| 153| 418,209| 153| 418,209




